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QUESTION 1

Refer to the exhibit. 

A clothing retailer wants to review their product pricing strategy. A data architect must classify each product into a price
group. The price groups must be the same width by default and allow users to dynamically change the width of the
bucket during analysis. 

Which feature should the data architect use to meet these requirements? 

A. IntervalMatch and use variables 

B. Nested IFs in a calculated dimension 

C. Class function in a calculated dimension 

D. Class function in the script and use variables 

Correct Answer: C 

 

QUESTION 2

A data architect completes development of a new app with two data sources Both data sources will also be used by
other apps in the future The sources have different data refresh frequencies: Source 1 Contains frequently updated data
and must be refreshed hourly Source 2 Contains data that is transferred from a partner and must be refreshed weekly 

Tasks must be created to load the data sources and make sure that the new app uses the most current data The data
will be stored in two QVDs. 

Which tasks should be created to meet these requirements? 

A. 1. ScheduleTask 1 to run hourly and refresh data from Source 1 

2. 

ScheduleTask 2 to run weekly and refresh data from Source 2 

3. 

Schedule a task for the app that is dependent on completion ofTasks 1 or 2 that loads the two QVDs 
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B. 1. ScheduleTask 1 to run hourly and refresh data from Source 1 

2. 

ScheduleTask 2 that is dependent onTask 1 to refresh data from Source 2 

3. 

Schedule a task for the app that is dependent on completion ofTask 2 that loads the two QVDs 

C. 1. ScheduleTask 1 to run hourly and refresh data from Source 1 

2. 

ScheduleTask 2 that is dependent onTask 1 to refresh data from Source 2 

3. 

Schedule a task for the app that is dependent on completion ofTasks 1 and 2 that loads the two QVDs 

D. 1. ScheduleTask 1 to run hourly and refresh data from Source 1 

2. 

ScheduleTask 2 to run weekly and refresh data from Source 2 

3. 

Schedule a task for the app that is dependent on completion ofTask 2 that loads the two QVDs 

Correct Answer: D 

 

QUESTION 3

Refer to the exhibit. 
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A global sales organization operates in three regions: AMERICAS, EMEA: and APAC. Each region stores its sales
transactions in a separate database in which the employees update customer data through a third-party app. The data
is extracted into three QVDs. 

A data architect sets up a two-tier architecture for the data load. The data architect needs to add the region to the data
model. 

Which technique should the data architect use to create the Region field? 

A. Create a Region field in the SalesTransaction table and populate using fixed region values while loading from each
source 

B. Create a Region field in the Employee table and populate using the LTrim function on the EmployeelD 

C. Create a Region field in the Employee table and populate using the SubField function on the EmployeelD 

D. Create a Region field in the SalesTransaction table and create a mapping table based on the Country field in the
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Customer table 

Correct Answer: D 

 

QUESTION 4

Refer to the exhibit. 

A data architect builds a simple data model to show the relationship between students and exams. The 

data is loaded. Every StudentID in the Exams table should be found in the Students table. Some students 

have NOT taken an exam. 

The data architect selects the field "StudentID" from the Students table and sees the following: 
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A data architect needs to fix this anomaly. 

What should the data architect do to ensure data integrity? 

A. Update the Students table and add 16.7% of the missing records 

B. Remove records from the Exams table where StudentID is null 

C. Update the Exams table and add 33.4% of the missing records 

D. In the LOAD script, add DISTINCT before the Students and Exams tables 

Correct Answer: C 

 

QUESTION 5

Refer to the exhibit. 

A data architect needs to analyze the number of orders by customer. The data is stored in two Excel files: Orders and
Customers The data architect creates a bar chart, but the data is obviously incorrect. 

What should the data architect do to resolve this issue? 
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A. Open the data manager, split the Customers table, and Concatenate Orders and Customers on the CustomerlD field 

B. Open the data manager split the Customers table, and associate on CustomerlD 

C. Open the data load editor, use CONCATENATE to concatenate Orders and Customers 

D. Open the data load editor, rename the CustomerlD field, and concatenate Orders and Customers 

Correct Answer: A 
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